Area of a Segment of a circle

Problem: Develop the formula for the area of Segment of a circle with radius r where the arc of
the circle segment subtends a central angle of 6.

Solution: To find the area of the shaded region, we have to
perform the following:

Area of the shaded region = Area of the arc sector — Area of the

triangle.

Now, the area of the arc generated by central angle 8 is
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To find the area of the triangle AOAB, draw an angle
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So, Areasegment =5 07% — S1%sin (), where 6 is in radians.
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